OREFS (E30FE4H1HIRE
)
6 =l ), AL 2
%6 FEDYIEHE DR (FE30FE4818IR%E) %=\ ERFIRIE S DR
i SHOKREEFRIEHIER (BE481814
RTE. B A)

5 HC#E e
_| #2005 REE YT
= 19.66958% |24.5868758% EREERESICHEELTHRASH
njtl,, - ,\é . FH 7 N f:iEA = oan—
- g%g; 58_0395,@% S5av0oamA 4 é:\#xﬁﬁ{ﬁZfE%%ﬁbf:E#,ﬁfTo)%gﬂﬁgwg@gﬁ*ﬂ& TR E L A0 ACIS277 ATY
e Lk T R % —BAEE | B X »| WA e
T EDBOIEEE | 255 0B% | 47.7090R% [ XEE | BRE | EikE 8 P T PO "
LPDNBEE = ARSI (0% < 20918 | | | e ok |180.700F|153,0000 153,000 1 [ FR30F| Fu2o R E R HIEEGE
% 21E 45%65?:3 2;3654;9 %3#{%3\%@*4 122,400P€I 162,900F | 162,900 == 78 5 0
B =] =BE o | AT 8,200 ; - 76 T
gg%gﬁ 19.66958% 24.5868}7E§%ﬁ 4 EH 901 COM [ 154 5000 = wige| B B | 26 [ 24 =5 FAES S UBHORRED <6
BT | 28039587 | 33270757 FER AN CL T R298 R DR EORBERR Bl ———— SR EERAC & 18
= 757589 47.70908% ™ ; &\1T| ki 12 —
%o)ﬂilﬂﬁﬂfggﬁﬂ 47.7090B% | 47.7090H% 57 BROBREN - FEATSRERAORS sl ® T 2 13 | A1 | BWEBRNBEES T (CEoH
EORONSIEE | EEh S EREE 2%~ 15%108) D : g £ A 2 . ) /
(51)5@5&%%&?@%%%@3 B R B L | BRERLE SEEHES CRAE L | SH 05 = 6; ﬁﬁ o1 | SBORRESICSON
e TEEL SRR ERLEBECSEST | P %ﬁ%n@igziﬁfﬁoﬁﬁiﬁfﬁ‘oEﬂ%?‘i?ﬁo)ﬁgmﬂgg mEEm & | 26 e i‘ zﬁ%ﬁgﬂgﬁgﬁfﬁﬁﬁﬁﬁﬁéﬁml:&:éi&.ﬂ § N % g
w = ! IV B | 229 230 RS RAIC K518 = o P
s o B e A R mER AL R— TElTw
Ty 898159FH 10% 240,995 | 245,700 S ! 1 o TR
Eiﬁﬁiﬂ‘%ﬂiﬁhﬁgﬁﬁ BFMIFEAT)| 306.549H %OE 341,660/ | 308,000/ =1 280 | 276 4 | AO1.000ABrVEE SREQ $
e é‘f iﬁnﬂ%ﬁégﬁz EDEIE (Ze%) 382 360,600 | 335,233*3 o8 $ 8 4 Z 5 00 ASTBES 4.41A = 3 = E s
- 10% 3 401,553 303,950 L K& 10 1 — = st H
ORBYHTY (FR30E£E481HRE) #1 BREHOTLL 2R 42 BREHIOFI 206K BRz| Z ot | 22 | 22 21 | FHORRSICESH Ltmio
SR (PR29EERE) 3 ERAHAELLL 7R 54 BRI L2 F M E 36 0 ™ = i = &
%ﬁﬁ%*%"rc')ﬂ‘r'isﬂaﬁza(s?mzzgﬁﬁzae%) e 8330 %8 —RTREORABERORR (TH0F4R 1 BRE) ) N e D IR
A2l 05T S BRADES (TA29: : . \ 7 (EA30F4R 1R & 3 16_| 313 N S I
S REE DS (TH295E) i}é % Bﬁ;@%n5%@c:go\<%ﬁ4§e@mzﬁz:;m&ém@“ i B30ANTI [330AMFI| 3 Q?]’%?fgﬁﬁ”ﬁfﬂiﬂ 4.97 A i = ;A if ﬁ
FADEM T ] EEN B RBNS = . —— Yy ' RBICEDDMEDTE 5 T X F
e THERUIIAOTIEE e go N A g T AT SR e iyl = R
TR 7&?—‘:5&55%%@@%@@%% 15 400m giﬁ iﬁnﬁuéﬁitmﬁﬁ@z\gtmﬁ §? 13-23 %fgf}&%ﬁﬂggguﬁf PR30E3A31 BREDEREABIRADSFH30F4R1H ;ﬁ %‘% Wi ke /ﬁ;
sEppupry | EEREEICES) DRBE i | HHE 5 o DS EBSOEBTHEZESHET (FM29 o = EQ s
L oroaEEE 18 a00m || |48 RE EE 2L 220% =2 EERFBREROKS FVAFRIOF 14N 4 L2200
FEALEFS %‘%E%@%w 153.0008_| | [6#% ;ﬁ = 8 | 3.2% = (ERE30F48 1 BIRAE. 1) 3 IENEN F )
e Anges] o FETAOIE 15.0008 | | [ BE eaaaes 3 o TTo5% | 20m| 20|24 28] 328 36 40 a4 852 ; PR
@?é($’ﬁ30$4ﬁ15£ﬁ7‘£) ! [=] \Eﬁﬂ%ﬁ%E\IE$ 9 3_6% ﬂaiﬁ 23& 27@ 31zﬁ 352“_& 392ﬁ 432ﬁ zl 2']- 2?—'_3_2 5%& 60ﬁ B ; /]\ % Fﬁ ﬁ
= exe I P& DR = : | 391 | 4318 | 4748 | 511 S| B o 2
FUE | (ppiookmam) | SETBUROEELD Huwmt@ﬁ;ﬂ(u—r’ﬁzsoﬁ4ﬁ1aﬁm TREEACIFAE RV IEAEAE] = ° /?\% ik
BEAFS|  6,58955TH — = SR B, R EEOEROREE RS TR 2 | 316 A 1 &
W ' 276.8700 B[RRI S EES | 0& R —
Egii %2%%;2 2765708 ke 2 u%’é%):k&%&bﬁ}h’axg@“o =4 AHBORT (BEASHRE) B S ) TG F i
N (Y] ! A :\6*4 e T 3 = t ,“a"'t Y
anFs | 1100756FH e | B = 50,000 e B N 52 lemsomamione
2,587 7347 H 718,722M Bl 701,000 EEEA 635450 | 62,1494 ||  EIERARER BAOESEDTIEC «
P F{EE(%6.500M. Fik ) ] E:E%EE 464,000 )\#F%t 218151,72175M |204{25,12356FH 7}<7—i‘5%tkt%“&‘é‘é—ﬁbz\—jz/f?[/z%ﬁfii’iofffg
B IS Soor . 18 10,0003, 5 B C PR gl BIER 414,000 g 26{89,25275 | 2718132 ERE100EL7 & OS2 e
216,500 TT & e il 1 5mh'5; = B .000F3 AFEZRB/A §1,327H2FH Tk 7 NEEORENKE)BHDET
Py et TEbEB( 6B e 3.27% | o m oot BRI AR . B e e
oo g g i ° x| m . > ( 6AHA) o~ F (@R LM Tz - :
Y ERBEDBEEIC2 o FR29EETRES = . FR<) s L
: g \ : = X ¥ SO TIEHETIHEE
TIETY) SREBLONBES MHERICLUT 20007 #10 BROFHORR I 7 PO e _Wfﬁﬁﬁ*ﬂlﬁgﬁ RATHBI DBIERI T
55 OOO’H&%EHfEEﬁEbaEg: TEMEREE G | ATUOLBELLONRT A 276\ 2760 | | [BE & - EZA S = 2 i
) S CEREZEZBUE T, OE@EE?%-;},@%;__L:' - T9, e fa = 10{&7,53452FH | 101&7,59557FH — 1k | e FI B RE 105 0
—— L RIS T R TR =Rl (FR29EEZISES) (A% o[ BAFS 208410056 203 e @ik |42.38] 3113907 100LLE~105%7 | 18
S1341.000M. EEHE453.000M nBET\E(d e B - BT Y | 4184,849752FH -l BEE|43.1%| 330,610/ | | PEAE~100KME| 34
65,000HC9Y . = FE(F %Eé ,HEEE?% gj]ﬁﬂqg\ 7 E = 41%4,960758;'% NI :
2.60 1.80 = S B |17(26.484752 a 4358 329845m| |JOMUL~95KE| 6
' 2.60 1.80 TASURSERA | T/ [1786,1525M | | FRE ARSNCOBTH20E | 0
63974FH | 63872Fm || 24°1EREOREERH = = | 58

5 JRHA5L<D
L 5<D 4





